U INTT- FY
Diferealial B Czt_x‘rf 1o af- TEI'JVc[tU dar

Pantial

'PCE'_HG“_,A‘E i Equa“?ﬂ (‘on‘fﬂin?rﬂ rdr,’frdrn‘} vsiinble curcd Ty

Pastial desiivatives w1 Qor more :ﬂd(EPCﬂC{f’ﬂ'r variables 7

Called o r!CLﬂde A.F

_E"i j-n)qba‘?_ .02 _ = 3)’J"4u JﬁfU& 1 J-{(._l =0
B st ”Eid =% d'ﬁ""‘r'ﬁ&f“ AN
D% 2 X )y S a3
AT E>"‘J1'"f 2> ) EESR CJ'I\

<In the ccceof 4 dfrfrden'l U‘cmiab(a tcoo ‘;rdeper‘f‘%rﬂ
\’“m‘hblﬁ!,usuailé e consider zas the Aependen] vimia ble.

4 ClPdLL( arc ioc Perder)'l vaniables.

The first ard 2ecord orden paatial denivatives 0f z wrth

Yespect 4o X amdy ane D2 D2 V2 Vs % el ectivele

Aenoted by P, 31

: v
e, psO% ,9=2>  mez  g.DZ  t=22
on 2y 1 MDY Xk

O_[Q[_E-“-i The orcler of Q Pd*E_ s defined ac the ovden o the

h{qhﬁst Aeivative DCchc’_d ' ~the

bggfﬁf-‘}"ﬂ?é cleqrec of apdb 1 de fined a

l - i .

e ' UE Qf é’ndmﬁ O
‘ N )2_% ?f.(.'l oL e L8 PCL"-'nLlCLl A )C'{
dﬁ’ €€ -3
nrf?H o O EP,_C“:— | |
fort™ _—Hﬁ Pc:;nkial A-E can b€ formed ELJ
(i) F lirnination o o;nh"f{mﬂ constanty
Cﬁ ) 7 fl (1 'p‘-tﬂ C‘H Oowd

Scanned with CamScanner

nnnnnn d with CamScanner




e e ————— T —

E_Lim?r\crﬁoﬂ £¥ _q:_nb_i_ka{j C_‘_cz__ﬂﬂ'q_ﬂﬂ;

= ——————— - — = i e O - - - — =

¥ O -the nurnbe Of Q.J‘l;.)l'{m:j (‘Dns:'!nn{f +o he

elienrated it equal fo the numbe) of irdoperdend vaviahles
~then we Cjﬁ+ Q TJ-d-E of 13t ovden
| ¥ TH the Nnumbes Of cmbﬂmg Conctantt ~to

N 2 aredley ~than -the numbex of rndérf’rde
be elimirated 3 ~ A highe oroles.
of X7 and hig

Vaoiables -then  we ?E{‘ a pol-f
\SimSt

D Forrn -be p-d-E bli GUm‘lrﬂHrfJ -the m&i'faﬁj Cwmsﬁﬁ# Q
and b o z- Ax +bgﬁal-ib_‘_

=l Given Z=acthy +aCHh T o pasialy s b A4, b

—O

Je bt
DL A NPT .

Fra—® Ay -G
Qub@®) and ) ineq-0)
_Z_‘ - P1+ q LJ -+ PL-{ CI 2k TS hH'\f'_ rcclui I’C’_CJ PA- [-
E)) forro —“’qe FJ 0{ E bH f[j'mfr)a-b'rﬂ _H'\f.: Qri)rfa)?y (’Gﬁf‘lar)ﬂ
Q O.ﬁd b -From X2 = af B ljl/bu

--—.—"_—_..-—

a'}
) b
ol @uiven 9z - -, Y9 DO paghaly we b A4y wege b
). . Y r 3
' OZ o - . . R
. 9% o -y . ‘E":
AT DA = Ay =6 ( :: b
' =
3‘9_3 . XY a8 b= TH/ 9. -G 5
% b
G«® O Rz L i
Sub @« U X<LE ]
Ap Ml

Scanned with CamScanner

Scanned with CamScanner



5) Find -Hhe Pd[ af all SPrPF;J.-Ll;*.bl;JSG Cenleney Uies on 7 -axie

with vadius o (G hhcﬁarﬂ Tf?fdju‘ g
uth centex (0F

. L L
= Fqguation o S phered = (-4 (4f-h)- (2-C)=r™
_gflﬁﬁﬂ“‘ Cﬁ'ﬂ'l @ UE‘O(‘} ?_O){_FS (= 0,b=0

Yo (7Y =1 @D /
Where ‘c'and'y’ ome orBffGﬂtf{ Paptieay

D Differentioting eq-G) pantially -t Landy

It & (z-)d2
" o),

(?"C\E}%}:- - C‘2¥-C)P: —L

- 2-¢= 7ip —®
,aid—r /"\SLZ'“C%%{O

\2-0)g =y 5 2 ==Yjg —C)
< from @) and )

,_% 3 #% D % - Yp=0

Scanned with CamScanner

Scanned with CamScanner



Ut

S = (2%4a)((gHb) -

L mO.: oj u;ﬁd_[_’)end_grﬂ— varaables I,la = "Tha 'nﬂ'..nj-

ar bi-l-ranj Conatank -
“Then Wk aEl— “crel- ovder .PDE.

Scanned with CamScanner

O O RS O RN W RGO W — W WSS O WS, WS- —

—m S AR G S A S S S A e O  a  aE e

Ghjfcr:nk'd*l-f eq, ) Wrt x pawalt-j

P = g_i. = aX (‘d"i'b)

2 $rb=gf —

d%tm-k'm e ® Wit § parkaly

q = 22 = 2y (14a)

4
= 11|u=3“{d— — 3
SubstHaby 2) 3) () e get
_ p
"f—-%?*-ﬁ
=T 4343 = pq, -
] ¢t 2+ _
oLt S =
> I *'Jl-—:l—i_
¢ T p+  ar
B 2
#Ql—c'l('_{-a—%—) ---'""(')

Scanned with CamScanner

Scanne d with CamScanner



Here  -the no: of ‘ndefxndﬂn" vanabler T, y = The
no: o Cll'b'i'hcm.! conwtanli Q, b c.
ve The no: of _mbl-\-m'n.i Conatanl] > The no: o {ndﬁPe,ﬂ_
—ent-  variables- - a
differerrictiic e, 0 tort %' porfealty
2% %%: =¢*(-3;) |

2
= 92 = —CH
~ o o (2)

Scanned with CamScanner

- —_— — — _— — — — — — — — — — — —_— f— —_— — — — — —

O E— E— S R e Eme mmme il

L]

aﬂm'n djfcren-k'alf eq (2) WrhE a pcnrHa.lC-1

3B 02 =~ )

311 a2

Subsictute ) (b @) we get

2 '&3 __( 311

=1 P = Zn+p2

= zxr+p1-pt =0

Scanned with CamScanner

Scanne d with CamScanner



1 2 =y o ‘J\fﬁ‘-ib -
difftrendcate eq 0 vt X r:q'rlt'ﬂ..[&!

= 22 " | (2x )
P 19 e O "

cli:[fmen-fc'alc eq M wrt Y ‘Pm{t’afij

-— 93 — - .

e o e e el 2 S s m i e e A p—— a

Scanned wit canner

p(a-1) = {(a-1)-+1y
= P3-P* = oy -3+
2 px+ay =P%

ge—
—_—

8- (5("51)1—% LE]-b):L-—i- 2T =c* wher C A ftxed.
- . U) '

- |

i:h':lfcren"rf:'al'c eq, (1) vt X pa'r-lc'cll(xj

AY-Q) - -‘&3— =0

= (x-a)+% 82p =0 (2) = (x-a) =—3P

&

Scanned with CamScanner

Scanne d with CamScanner



= (x-a)+ 82p =0 ) = (x-a)="%P

differenddate €9, (1 vty pm-fc‘aics.j

Q( y-b) -+ aecg%_- =0
2) = (y-b)="29

= (Y- 24 =0

p -

“from () c2p) (-—3@)3314 2'=c
e zh=c>

5 =2 (pHQi+H)=C-

—
S —

9. + = a1ctd+—:]:-_d1€1td +b.

— (1)
diferentcate  eq, (1 w e X parically
= 93 = 9

=7 p=ael — ()

dl‘ifcﬂ?rrlc'ait eq, (1) Wyt "‘-J‘ pml‘r’alﬁf
Scanned with CamScanner

!
I
I
|
I

W

2 T

Q@ = ale“-;rq’-e"i '

q, =(Cle")_1 + (GELUJ'.

9= putpt [_. %mu))

Scanned with CamScanner

nnnnnn d with CamScanner



log (A2-1) = x+ay-h

—~ ()
differentcate eq () w vt &' pqik‘alh,

L (a®) -

= 0p =(l‘£1i-1) C— )

clt‘_-ﬁi_ren-k'aic eq () wrt Yy pafwalh]

1 o2 _
QA—ltxa‘d“g

= qQ =(2) — 3)
From @) y (3) ap=q
=7 Q= BPL
V= (F)R -

7 PY=q3-p
= PiPq =qz .

from @)

= P(H'Qz).‘: Q2.

L —— .

Scanned with CamScanner

Scanned with CamScanner



3.

1.

2 =q |uﬂ [b(""")J

-2

T = a[lnﬂ [ b(g-—l)]-— |Qt‘a (I—IJ]

? = ﬂ[_l'ﬁb—ilog(g—l)— log (l-ﬂ] — (1)
d‘._tfuenk‘ak eq, (1 vt x' pmk"ulﬁj

%31; =hb= O.LO—T_I_-E ('-I)J

7 P= T%E’ — ) = a=p0-x)

dﬂftmm-c'm‘e ) x-t ‘(d' Paﬂ-r'ﬂ[f.nj -0 eq. (')

o -
% =4 al &
V= e 3) = Y1) =a
B9 = pc-x)

= qy-q, =P—P
= P1+cuj.-:p+q,

~¢rd  -the dtﬂ‘cren;aj eq, of all Spheret O radiu 8

and having —their  Centres in dhe y2- planc .

g (b)Y ()= 64 T ¢)
'-ﬁh‘fcmmc‘aw eq (N Wrk Puﬂf'clfﬁj
. ) _
x40+ Q(2-C) = =0

= A+ @0p=0 —a) = @)=

Scanned with CamScanner

Scanned with CamScanner

Scanned with CamScanner



J

——
— "

4. terd dhe diffcrentcal eq of all SfF
Centretx N -the  y2- planc.

eret EH rodiun 8

a r)d l-n“'rﬂ _fhﬂ.l.r

—

o (Y (RO =

"Glij‘cremf'ﬂff eq (N vk a Pmlf'aff.t]
olks -c) & _
Qx40+ Q2 c)ﬁ =0

7 A+ @O0p=0 —@) = @<=

Scanned with CamScanner

s q
di’ifcre_n-k'dk‘ eq, (1) wnrt Y -P“‘*"ﬂ“‘-j
2(y-b) +(2-C) 3‘; =0
= (y-b)+(z<)g=9 — @3) = (4-b) = = (-¢)q,
= — (‘_l
(U-b) = .%-

Subsictate (y-b) and (ZFC b )
2 _
x>t L—“—PE‘-’) + (-Jﬁ)"’:sq

= '11-+ 'fql-_i_  \s =6y
P

= (1 B ) =6y

= a>( p*q+1) =6Up™

- —

———

Scanned with CamScanner

Scanne d with CamScanner



i ———,

———

F_or_muﬁm o}~ pDE by +El¢'ml‘na-}r'na Qrbitrary

~funcicorn .
% = 40Ne) - Z =4+ eV qr)
3. % = F(4) Y = ¢ (1+1Y) -+ (1-(y)

) »\1+de-1 NZ=¢(1rya2) 6 P ty+z a5y} ad) =0
T 3%y =-xy) =o0- 8- Z=9I0+2g(y)
T M= (2% g ad) 10 & = (x+y)F( aky2)
g = Janthy Far-by) 2. & =AY F(aky?)
Scanned with CamScanner

(=1 P — =1 == — _— o m— _— = == P — _— — . — — . =

13- ¢ (ahy+ 2%, 2-oxy) =0 l
4 & = F(ntct) + 9(1-Ct)

15 = =_|(m+b9)-1-3(a1-rb9)

s 2= F(a-rt) 9 (=it )
F R = %2 (L+logy)
18 =00 ¢a(y)

19 R = aF)(1et) + Fo(11E
X =04

Scanned with CamScanner



Nole  Similar =om of —the equatcons
U= 4Ccy) (o) V= F(u) (o) FCuV¥) =0

= =4 o
dﬁﬁ:mn’rc'akc eq @ Wit % .parft'alhj

I
— Ty (LY.
P= % I 4(1) (T;,SJ._——-(J.)

differentcate  eq O wrk y' parically

: |
=2 b —

21
L I
@ P -3 &
® 7 % 4@
P. "
T =T
- P‘l—rq,t|=o

F o F(13hyt 2-2y) =0
z-xy = F(4y?) (o0 eyt o= 3 (2-1Y)
consider oy =3 (R-1Y) 0
d;jfm«ak Wyt @ *Pc:xﬂ-c'af(_q

a1 = # @-14){ 2 -y)

—_—(2)

dfiren'ﬁ'a{f WY+ "'ld‘ paﬁr'ulh{

Scanned with CamScanner

Scanned with CamScanner



ez o= 400+ ed g &;

differericate €3, () wrd X' parfaly

b= 92 - 4'tx) + ¥ 3'(1)

— ()

cllj]fcmquk- eq, (N Wrt vy partally

q = 2_; = elgm

diffcrentcalke eq, (@) W rt X Pa'tfc'cllﬁi'

— (3)

P
r= 22

)
5e3 5 fi)'te'aﬁnﬁ) —_— ()

ditfecrendidale ¢q () wr + Y pqr-fr'a!&i

]
lﬁ)
W
Il
m
ol
<D
—_~
~
S

Scanned with CamScanner

nnnnnn d with CamScanner



29 = .3.1 (2-xy) (%%_l) . (3)

\ a
o o, £, Tp) 6
2 Ry AaAy) (@1)
= (a1 =(P-g)Y
= q1-1* = py-4*

S —py4Q1 = 154

- '1'#3‘ ;-:j('l?_!.d!;_'_ 1:.1) o)
d[jfffﬁﬂ'}f‘a*‘(’ eq (1) w-,l— :'I‘ Pﬂﬂt’ﬂ(hj

2ES

g[z+282] = 4! (yyhat). (x5

= Y(? 'r'I.P) = "5I' (‘9""“3?‘[’) (2)
differenicate eq &) vt *'id‘ parteally
a[(N2+ 5"3_2-‘& J = ;_;,'(15;9-‘4_ 2%) :ud-ta‘:l(:%)

X(24+49) =5 (ay+229)

e [B)

Scanned with CamScanner

2
O
QO
-
-
®
Q
2,
—
-
O
Q
3
2
O
o
-
-
®
. |

L (2 +24P) Fyraa) = 21y 243P)

= '3 +ayp +y2g+ 147pe = 124799, + 12p+ 2454

.r“'-' '-'-l-‘i
. A s

29 Y W] a

- i,

Worc PDF SignaturejPDF PasswWord e’Compres:.

| -
[

i

ti-coL

Scanned with CamScanner

Scanne d with CamScanner



o px(yir)+ay(E=xd)+( y=1*) =o-

—
e

m b
" z=c¢ " Ugla-by) _

2= ¢ eV J(ar—by)

dHfcrentcale  eq (1) -y F A Pqﬂt'alf.l.‘

b= 22z et (&a $(ar-by) +¢ Fla-rq)-a ]
P = ea'I-i-b'»] a- F(ax-by) +a e 'Hyﬂ'ar-bg)
= P = QX +ﬂg1*t—'j|(QI—b'd) —_— ()

diffcrentcote e, ) -t y' parically
- 2% 2 S [ eb“.b F(ar-by) + f:hlJ =j' (ax-by) C—b)]

Q = gTd* =
q = em-}m‘ be(ax-by) — b e ey 3 (ﬂi-b':l)
q = b&——bem”bqa (ax-by)

7))
O
O
-
-
®
Q
2
—
>
O
)
3
)
O
W
>
-
@
3

gnaturejPDF PassWorc 8 Compres..
Scanned with CamScanner

Scanne d with CamScanner



= o e F(ar—by)

P= 'g%‘ bq[ a F(ar-by) +€ 5 (ar-ty) “]
P —! eﬂi*bq Q. - -}(ﬂx—b‘i) -+ Q eiﬂj(ﬂr'b‘d)
= P = Qax +a€“b l('m-b-d) N B

d!j‘ftrerﬂt'a-w eq, () wrt ‘.1' pch.'alC..l

g =22 - & [ €Nb Ja-by) + e® 4' (ax-by) Cb) |
q
q = em*ht‘_bfj(qr—bg) b e ariey 3 ' (ax- by )
q/

b
- ba—be

b
From (2) P-a2 = Qe N :I (ax-by) -——i")
ond From @) 9-b2 = -b&MH =J (ax-by) — )

Scanned with CamScanner

)
O
Q)
-
-
@
Q
2
~+
-
O
Q)
3
N
O
Q)
-
5
@
i |

({)! P-QZ

) q-bz C —b E;Hbﬂ.g"

= =b(p-02) = a(q-ba)

= -—bp+aby =aq -ab¥

=) Qq+tbp = Qabz

Anti-counterf... Word PDF Signature PDF Password File Compres..

Scanned with CamScanner

Scanne d with CamScanner



¥ 2L = @y (r+iy) + Pa (119

— (1)

dl'jfcren-lc'ak eq, () or-t ¥ Par-ft'a.[G:,

p = aa = qS.' (141y) + qb_-_._' (1-1y) — (a)
\\ . \ ﬂu
d.ﬂ‘f mcate  eq, () wirt Yy Pa t‘ahj
Q = 92 = 951‘ (‘:I-tftd)f + ?5_-,_'(1—Flj) (-7)
“d

qQ = ¢>| (141Y) P ¢a (-fy)i— C

dlfferentcate  eq () wrt & parially

33'3 95. ("H'HJ) +¢J. ('1""3) —(Y)
91>

r:

clifferentdate €4 @y wrt Yy parkaldy

S = 22— ¢ (xaiy) i ¢, (2-1y) (-7)
2L

y) — &)

S = 95'," Cr4iy) t - ‘i"::‘ (2-1y

-9_‘(1-" N
+ = ~-¢ (I+|3)—¢.1. (1-1y) — (6)
= —@Jl (1Y) + Pa f"«"":l)J
t =-r
= Mt =
5 8%, 2 =o
A -

Scanned with Camacanner

¥

Anti-counterf... Word PDF Signature PDF Password File Compres..
Scanned with CamScanner

nnnnnn d with CamScanner



B 2 =93)+19(Yy) — @
d&hfcrerrk'dk 0 Wy kb a Pﬁ‘l"lf'tl[li

cll:[feren-fthif' ® wrt Y' parfally

= 2 = ya) 41 g'[Y)

aa (3)
differentcate @ w1t 2 parkaly
%, "
r=%5 =930

dﬂf‘”ﬁ”*"““’ @ wrt'y paﬁt’all.j
s =8 o 30+ Q) — B)
differentdate @) wrt Y partcally
t = %—1: 13"(‘1) — ©
“+rom @) PX = XY 5‘(1)-1-'1.?(9)
fom @ @y = 430 +2y ')
P1tay = 1y )+ ry)+ yIa)+ 1y faw)

9 PAtay = xay(¥' m-rsw))—ri-

= Ppi+ q,ld il ERES

)

Scanned with CamScanner

Anti-counterf... Word PDF Signature  PDF Password' File Compres..

Scanned with CamScanner

nnnnnn d with CamScanner



|

ITE:JPGS Of Ed_]_: '- -
h Theve ane {evo -lrjpc;t O P-d-E j

D linecr pd-t -

]) Non~tinean P Al ¢

Linean P-dl. £ .p pantial d-t 75 caidl-lo be Gnecn i fhe :

cleaivalbies of {ke t‘lﬁt(‘wrﬂenf vamicble aﬂ;{;n 0 e 1Y dthl’fc
0"%4 and elacynsl the derivatives canndl be muH'i'pl'tjc'd 'hﬂeffwal_

2
Eiﬂm[“(t ‘s '-'l‘.l '-:'}_E_ X {dl, bm?_

m} == 2t ?F‘, C\ L'iﬁﬁﬂ:’} P ('J 3 s ©)f 0(‘1&”1

R 254 0%
RS AT

AI0N (_.5\’“:@03] P‘C:I_'.E A paﬂ'id\ A-E which s not Li'rma:r,_fs collen)
A non-Unear p-a-E
Exl Yo 02 2

<2 T—tx GUQEMPdE' D'C OTOJ.&:{*ﬂ

Soluton 9_4__.;1 Eﬁ.]{; ' |

a E -ﬂ Solution 01 A Da-E is a relation b?LC‘dt‘me[fw
and 1ndepertlfnl Vasiahles
3 fype) Of solurtiond

) Compl(?flf Qoluton

o) {m.{{mlm l
3) Greneral '
COm/_{Lc_'fc Soluten - et (Y 2y[%»9) =© be fhe pdr o

jt’ig)':dca <A rt’d[ifon ol A form Ch('JL-EJ—,_EQ,b') r(}_m |

(‘lcmltf Q) 18 QO (ompfn"fc‘ Solution Gt} )

('.'HO‘O-( hitecy consTandy
5 m*ﬂ( rrﬂf%t‘fﬂfnl \/i::l“iqli-)tu)

TH PEt - There axe

RL'JI'l'rICcLla"\ Lol f'HO‘) |

e B sclutior, e obtained "“J 3"" E”?‘.P“Tff“‘-*b"
Value -l ke cclsiang Consiants in The Cf"m?[ﬂ{? ?nicr}ml 18 (mu{?}

= "

Scanned with CamScanner

Scanned with CamScanner



O paxhculay splubion

LC'»'Itnch,\_Q\ gﬁflu"’“—‘n_, A SD\U Huﬁ w\'nﬁ,'n CLﬁ"'Lllf‘__% ot b L‘fCth ~“nChod
ay Calu ck o Cnenevel Aoluten,

E"J" Z = fMayg) s O PEneved aatuk—'wrﬂf—?— b-cy = O
Wheve £ Sn e Bibtes] Anddon .

Lfﬁf(m Patial AE -
Laammes LHrea eguation :
\-’\Zwr[*]; N\ -.._.-CZ \UN\A :AE e O( 'H'\L‘" 'FD?rr)

A first orden Lnea? P
\ o &8
Pr>+ Gq:R i where [ Q..FZ ane Functions O
a Lacarmﬂa%nem eq,uajf’m-

Let 4‘Lum':0£b€ the

ON | " miting the asbitasy funts
T@ 7s obtained fror @ by eleromn 78 |ty funttion
L where uand v ON€ 1fdepélrdeﬁ't -QJhrclOM of 'LH,(YZ-

@zorkm(j Lulg o solve PP:i Qg=R: —@
| N rﬂ@,}. At [cuj cq uations (.S uég‘ic:;:rﬂa c’,?qa{

El,"z_ s coullec]

ﬂen‘gra! gD(LfHDY') Of <y —®,

Step-A+ wwrite -the Logre

~tonJ At _._Cl -:C_{;__Z_'_ 7
) 7 "% TE ~B

step-2. i any 10 edependent solutiond 0] _E'ula'g?dmiy
C’%LLC’LHDF\-‘)

:{-(_‘-B ?.;'Tﬁe chnem' QOUJHDY-‘) E)_[ c"q -—@. IS (jfvé’r) bd '!?(Ll.V)zL'}

i

| f“\f-anf{ Q__{ ﬂfﬁff"rg -

| Tn SorNe. Proh'[crﬁ's,fﬂ 1q Possfbh that Hhe

Subeidas (_’-ff{ua{fmu Qne. di’reclly qolvable 1o Sf't ihe Soludiong

Come Hmes the ?L!bﬂ:‘ndany eth‘om falls ﬂf__ff conunient -to oy

s ifﬂ me ‘fﬁt:d o. (’er_tPfr‘(i.'(Tn cuch ("{1!(]' - e € hoose ~1Ae f‘l".E’“\:d

Scanned with CamScanner

|
|

Scanned with CamScanner



of multiplyens

Fach yalio i< eqtﬂl o He g(l'i ~i-mdri(-l Nl >
IptmQ +NR

. tohere 0,0 a%e  aqliad au Mul{:‘plﬁeﬂg

T Lurenid o%e 20 ehooten Hhat Py mMmRAANR=0 then

{Ed-.twﬂud-{-ﬁdz =0 o

- g imeperdent Solutp

B Fotegating this, we gel one inere (saq )

glmllﬂ:’][fzj we ge arothey inckeperdent Solution
9 (‘hﬂ V= f‘))

Sumg.

D Solve P+ q{y ==
eﬁe(D ‘_I'S of the {orrn PP+&Qg =R
—tere P=J,Q: {y., R=Jz
“The (acarar\']et -/\u-i.i[anj equations
(
A ﬁi}itf"i > Aot dly dz
Fos R R B Ve
Nawing 4 two Ratios

dx .o
£ 0obg u

‘ (o Loy = Jy ey

Nt I P R R

Scanned with CamScanner



sz‘ : 9372 G

J_ll - "2 :-("1/:'l

x‘\] e\ 2 = Hl ('.' R') - Cl!'}\
-‘Genmnl eplution ¢ f (\F"‘ﬁj'\“f"ﬁ) b

Q\ Q\lﬁilli 'ranr‘rm *lnnl[(-l E t{an'y

{"
Y Eiven anv. PA-any-q =anz. —()
:H 13 O ‘”*)t? "POF!T) M a

P=1any ., Q -'lar}lz{ , & ?R tanz
f_rﬁ? (ﬂﬂrmgﬂ ﬂu"u(a‘ltj C:"LZLla‘flmS'

dv . dy wdz - gyedd . Ydy .0z
T Q@ R “|an "mj sgn=

'rau.'nJ Lo equations
dx .Y o T.0bS

_['—-mrrx -lﬂﬁ'f
O0S™ _ (cosY
( E"-:?ﬁ'it{i ] g ain Ldﬂ
LD(] [2int) = Lcri(ﬁmd')-f ¥ Log ¢
] pto €0 K,
S-iﬂ}-j

'TQFGr'j @] oo
_C_'lﬂ -di <\ T.o0.b:$ = (COH f (C(_‘JSZ (‘l':L
_{_Gﬂlj {anz S‘WZJ

LU(_J (gh"]Lf) + L0 (ilﬂ?) - LO{] (

»

a,nLj i “(
¢ INZ, X
The (1‘2 I r( SIIRLN Si_'_"l‘k « 0

th] cln?

Scanned with CamScanner

Scanned with CamScanner



3) Solve E’gz

- patzg T
Y2 pttzq gy — O
eq-0 v of the form Pp Bq =R
- Ldgz Q-2 ,R* m.f-
“The —‘Atl‘i,]bﬁj cquationS are

d_} - ':ig. > [_"__1 =) t_i_z_ :-dq = f:idz
P R R Lf?., :L?Z _;_:f:.—
WPO:““? JSI ‘h-‘-"O (&*C{‘ﬁ'(j@n-}f |
d~ _ dy P
I Bt A B
T.o-h¢
Loly - Vide (¢ =) '13 Y3
g ‘ | ‘J j' é—. '-:% < C
3
-‘;i' .Lf;*' %C t"{,
AN dy - q=
F -
200U = 203 Ticibg
i"‘ _2}‘ A =\1:—?3'= Ko

The §:S e {(3-y3 1-2)s0
) SoWE 2 (Ys2) P+ Yz —)g = 22(4 L
‘)f..*tl

-;B(lﬂ-z)-;v:\—jl(z_-x)q,: 22 (Inj)
eq-_{D S of fhe form PP+@(.Z =R
P: "il(Li"Z) y N -_-_Lj"‘(‘zh'l), R: '2_1(':1_-(..!])
The ﬁdemﬂ equabiond arne
C.!‘.& ""'c_i:_i*.-ci:_z__ :) d'? - dLJ Ay o b

—

-

P Q R ll(ﬂ ~2) ﬂ:(-;.x) 2 (y.- U)

Akre the ausiley equation) are et comAnient o
bLf -the me‘lh:d gl Lf]rmtf’ing S0 wt Chowvte Me r“,::@ 04 Hl-lllpl"{ﬂ}-’;

Scanned with CamScanner

Scanned with CamScanner



’Ong 0=\~ ,Ms ‘/an
,QI'”« MA +NR-0D -then (A4 nn(lLJq nAz =0
‘!Ed’i_{. Ol"(-f 4'%(‘[1 "
T.0-bg
{ .
(L du +(.\tjal1 : fldz i
UZIJ1 + CDK]LJ -fLDCJ-,z_:. (_ﬂjg‘_
[ff 17_:(‘/
LT /3 ,N= Y SUChthat
QP -H’ﬂ& +NR =0 —"’\E’ﬂ .0("".( ‘+ rr,(i{j_u_)olz O

Again let 4.

" The general solution af eq O i
37 ('itdz

| o |
-i-"l-la-}%) =0

‘S)\SOlVf "1P —‘(ﬂ?».,___ (d:t_ia.

W Given WP“’*‘JCI”J:L“‘L%OHM form ppeQq =g

r'__'-'_'-—' o —

"'“f'n:‘ P %s 6 s LJ P Ll h'i

The ﬂuﬁ&h"f CCZLlClHDILI (Uﬁ* A . Ay N Oz
(

: . Q. R
di = C:(g =2 C.{z
o fﬁ %T"LF )
from 4 Lrst wo ’“"lf':m,s d'{ . C_'l_J
x
-0-.55 R

sty O mulhp((/m,j are So chtowenthal

Scanned with CamScanner

Scanned with CamScanner



J.'idi: h'g"lﬁd% 9 logy- _-Lotjlj-t&cﬂ(_
gty - tog ¢ '
=7
let 2=, mM=4, n=I S?(hmmn +hat
Ip+mQ PR =0
S e B m(ltj+ NAz=0
oadd + qdy -+ d2 =0

T.0 be
L
j'rdiﬂ..&mﬁ&dz—;o =) 3;1{ % S 4

A +22 = 2K]

“the ‘;IE?I"I(:.'?Ql Soluton Of qr'tﬁﬁ Pqtlaﬁm Ty *(’ ("ﬁfj ) :DL.EHJJ.} ﬂ’l) NG
G) SO(V&(Hl-t-Zl)D —-'j,td C’.{ — o =0 |

Y Qiven ( ld?-l-zl)P » qu p—2rt

%

i\

AT

s\

™\ il \

» Pl F | A1

«

IHe of the formm  Pp Qg =R i
P- a2t Q= -y, R=—2% :
| L ' i" d"{ ;__‘[i - Cll 1
S Y —/\mulmy unahfﬂ S ® E?Gl_ = :
a« o dy . rRA- {
L?-—l:l% .f:ij o9
S from layd o AY olz
| (S0y AL
I'Lj‘b g {
Al - (0 < t
{t‘dﬂ - f‘idl ™ Loch : [Q]ZTLOLJ(_
Taring L=X,m=Y, BN =2 A% 90 ¢hoosen {hat L g
AN P,

Scanned with CamScanner



freckr Sycty =+ Sada= o

}- ) — j..
___.\Ej__\ < =K "\)}-(l"—_“? = N
P Y ?

i ::—me (]-ian nLr{i[ﬂ'}LI (T-‘(Z{la" ;Uﬁ ?f ‘r (cj/ﬁ__?_, 'f“)-i [JI:' '['J-)*._
1) Solve (111:5’. 2P 2149 = 212
LSO\

TR ol -{he «—f (o 'Pp A\ &q = [
P=sU-y 27 1@~ 221y, R=2%7-
A ) )
‘C—(“L - Y A = M I

-

:tﬁ.r‘j\-.z]. Q"XH ﬁ
S Gomlatt 4o dy L az ) To by
S (Ao © ht-c:JUJ =logz + oy
“'2>) g/-z — Cj

let 0=+, =Y, n=2 ard eachvatoise ~, olyerl2.
Rz ige “’?‘H—M&M ei(\ 4 mqumk ot

QC\-A-{«[J' )

L P+t MR DR
= X dX+Ydg4z2d

By g g Y
— AN+ 9dyd 2

o i ydyrzdz _dz

. Eathratio-. ) cjz.u ' NS4 ngydaegY”
| ?ftt-tf-ji'd = nadn$ydytda
' 2 YA 23013 12T . -‘ir{'?— 2 (M 5% 27)
G 22
' T.0b.2 =
. - o
) oG ey 2 HBGEFTEIR
;
) !'f-ltf-l 2 czR o 2 th-t'l SR
‘ —
4 gy Geneynl fﬁhl’(lﬁﬂﬂ iq r (t.i/l. T)‘{ UJ*?_L) = iC)
P 7

Scanned with CamScanner

Scanne d with CamScanner



Nea linean Pantial d-t
H There are -fotor dypes Ol POO- anca) Pd'El&
') "r( P! t'-n_‘: 0
:\ '[(E: P‘q) =¥
AL LY §89q)
W7 = P'T,-\ L?LJ -l ‘f (P.L?)
St a(');h_‘]_-d '(t\rm-_j B
Equations  of -the form - (P4)*2_())
1C, (*ctuaﬁoni Ccf‘:fa.'iniq{& Dacd Y Dﬁlﬂ

L\*th{}mc] Rule -

he ¢ e

Llet z =t by+<& a " Soludion &f € ?,UG’“C” ®

2

LSikn“Lm*tlLJ % _bic, qspb

Sub‘%{i-&;ﬁn(} “hepr\alpue @ (n eq - WVE E]@f
: "P (O b) =0
1 () '(":ff.__j e ("C;;rﬁr.a L:“iC ﬂdLl“HCJr) C.Jr (-:-‘q '(D; we J"rabt” fo & (Irﬂﬂ; ”G'{C

(mlj one of the consiant from @)
. from (B, we canexpress bin derms of &

let |~ o)
Tren the requived cornplote sottion &
/ 7= ana ¢(a)~j tc
Surmg:
,';jgglyf; rffi C{J: [
=4 Given 'pi-{ g’ - @
cq-@ 1S Of {he fﬁnw'j -f’(r*.rz) o ¢

(fl_- 7 '-(.l'i*t":LJ't(q _I’)tfJ (A '“ﬂ“ ‘:(ILUJ HE'S < (ncl_é:)

Scanned with CamScanner

nnnnnn d with CamScanner



_.a_-?'-,a, ;-(‘1 P:('l ('1\“1(‘ é’? : r"r"(-'.l L]" b

N m)
&Ll\’ﬂ“hﬂ’iw] {hese Wtues o) ,we gel

a1b’=) - @)
T {ind ARe ¢ f‘mplﬂf‘ _go{uﬂor'}, wWe have fo e ¥ r‘r}‘rr'ﬂ‘lf' (”Jny
one Qf the Constant 'me@
- LomE  B-at o b Jal
Sub buate m 6), weget

7= 043 fror 4 c)is The TEQUIre? T

2) Solve Pg P1+Q =0
So

— G'\h- < o r)C] X8 P.{.qLO B
Tt is of the Hom f(p,qj-.:o
led 7= a4 by +¢ s the ol Colution of €q-€

—@
V2 !
— —.—;(",ll"(’ - 3-2 tb;"'(; -

QA
Sub ~these values yn 0. wWe el
by aib:0 —(3
R Hod the Complele Solution we have to climinate
any Nt of fhe contlant  drorm(2)
) b 2

-\ ‘(}C‘sl’ﬁ@ b(oe) ta=01 == -t |

So3ab 'y value moeq-E), wieqgef

IO~ S n.j-rtcj 's the vrquired complete
Lotuttion,

Scanned with CamScanner

nnnnnn d with CamScanner



%} Solve PA C\.‘: NPYa.

Giiven b, 9% opa, —O

Cq-M is af 1he -the  Sarmlad ~fovrm -6
let = = axd ba wC e e Hrail solution

—6)
Then o _ NS =
ﬁ'ga*a >} P =4

52 < h
SY "‘-bCIB 2 q *b
Sub here valuesin §)

A+ B~ nab
A’ —nabtb=0

RN = Nnb o \/r)‘lbl_qh\_

-
- -?[ﬁ ity | (@)
Lub @ N QL weae ¢
2 = bt %g(h't\fnl._q]'{‘ﬁ.

Scanned with CamScanner

Scanned with CamScanner



4 quﬂﬁbnq rﬁffuc*l'b{( "LD S'/{_ir__‘ﬂ'-’ﬂ-r'd:ﬁ;‘u_ni{

Equationg of Abe (o1 (0%, 4g )va 4

P[_/,(” Con bhe ]f't”"{!("{‘(‘“ es D a*z/uﬂiun Qs “the ﬂ), rn

(ra) - o

BLJ the ,Puuau'ng Lrans{pyorations
g

4 9@ 9 @

Scanned with CamScanner

Scanne d with CamScanner



Case (- When ro= 1. n=t then dhe eg-O becomes.
‘F(P"tiqu)‘:.

foy the cornbinartion P, we use -lhe HGIJET'HJTI’T{J'HFJ} |
¥ = togi

‘rUl "“‘)P Com hfﬁﬂ‘ﬁgf) C? q, we ule ‘”‘)("’ {1'61” g'.r{-“ I‘(YJ'I"U;J

- P2 _
Y4 DX A '?3?;1 (‘/1)

r
(H @[ {j SNy A :C‘s-?('?{d?frl

L !

‘v\f ’ _
NGW Ca-O wil) be.r fhl;t“c:{ to the '(‘DHY}

(p,q) =0
CCLS'G\IEJ' Nhen M 4| Ond Nl .

- -

U Vo rx'“”’,xj- D

o A0 Bk
- :").—Z— --B.Z- B’: -— b?_ l
L — 2 |
P DX o X “oBi 3% ("“"ﬂ'f- D

Sfmitmlﬂ t’l)".l = (1*!}33:%/ = (1—n@E - : ’

fNow eq -U wwill he ﬁ’ang-ﬁznwd {o 'F(C"h‘)')
_ P ’ ( b ) %
'“_'__:“‘I’ .- I OQ] =0

pSolve P g =

‘_Sﬂ " Given Pquahon Can be wontten o) (P’OLl (?V) -., @
eq -O will be Lans{orrmed Tn ~the form of €(P.Q):0

Scanned with CamScanner

Scanne d with CamScanner



Ny 9y =22 - Q
y VN

Sob dhere valued in (L, we f'j(’f
) .
[7 A U‘j' "
led - aax g I; [4¢ @f A eplytion af )
~Ihen 07 . | '?3 = h
O X DY
p-a | @ - b
) v Ah. 1A
"~(i(..m@ A+ 5 - | Sel-1-a Y b a

Qub ' wvalud) i @ We {J“OF

(z. = amgi o gy {j;s-w I-CA

~forro- 9 -
S}-andaﬂ 'é-);l:lfthﬁl\f of -the —:((.Jl'l*ﬁ '{(?' K C{ C)r > fC?UCfffr_m_g

Mot cm“lainmﬂ ~ an”.i‘d
V\/Oth ncz Rule

enteh ¢ <ol Bo
Le‘l 5 = f(0) Where u=230y Le atentehv 0+

-

= i ‘o > O o _")_'_l
of eq-® ern(}az - %'6?&”%; <l =S
=02 _ Y2 s & (RS J2 e E}
1 DYy 4 Y () EY
Subﬁ'lr-krhnj 1 es€ valués “”E(?‘m' A C:fﬁ"
_r(z,,,__,(l‘al‘)-—u (o -f(‘" 4_7: ,L1-di]=0

O o
: jﬂord < »
which T¢ an Ordmmg AE Of =
THe %uLLthh of QBDVP( lu ?"LC 1he COH}{“LP"C Soluti'o

Of Gq*(l)
SunS "
')Sulnc z- P9
So v, ol 2 P !CI, _
o LC{'@ e of th "g—“‘”‘o r( Lf‘
et 2z - L) LLs '1-|r:lj’_x;—‘ O
l ‘{Lﬁph‘bz . 072 DL{ t%t}) ‘%::L

S — -"'"-.. i

Jyail solution of eq. @

Scanned with CamScanner

Scanne d with CamScanner



Q- D2 DT NG 407
‘\L} "Hl D{‘f | ' "\u
b e se valoeey oy Wy, Wil ifff"'f

(23 @Y oahe i, g (e}

S (;_ Y d&rf

D 7 - [f:ﬁl (l"lal)

R4 . /0=
o’ (t‘lu )
f"? _ ‘ii_f_ B 5 ?'-lh (l . 3 'f{_ﬁ_ | jﬁiu a4l

A ey JT4a>
VL
?__ — (Ll) \ C
\)y_ J’T’i
9J7 - ’)('195 sl

l1CU
J) So\wve cf‘*: -zlp" G-p %)

Efl Guven qg': "Lilbl(]- 12—-—@
eq-0 s af the o 4 (z,p.9)=0
(e} 2+ Pl su= YA ¢ bea il golution of eqy -

e p= 2= . 2 .U L0z D

D dU 5 ;M
q ﬁ) < > )2. < 'D"Z!_ - Cl ! "LE—-
‘\}‘j _5_{_,] Dj Al

aub these value) Mm@, we q¢y

C"%B - '(‘w)('_ )

Scanned with CamScanner

Scanne d with CamScanner



t(-l[l ‘(’,l':? \ rl(!
J “;.El‘
G ey <
3 (2282 (clu
\J-:;"‘:;L
; 2 5T 4 AU ¢ !_T;_
.- A > ; =Y I 5
/'-.:1- a> - (udd) = (taytt /LS the requived .5
Y folve Cplagg o>

(3
1
WeReT sPreadiiiat Hzslix 2 i o2 (b
AN '(T)#{‘S-';L: 5; "i
[Pt = o2 aﬁd S:‘m;la'?y qy = é_'?_—

X DY
Aub these values im @ ,we have

N2\ & D2 e
AN
P‘TQI: '2_3:____ @
@ < of formy { (PR,2):0
eV 2+ f(w,wobeve U= X 4ay-~tan
P2 .22 U b2
bY" du DX 'SE{‘
Q- T . 02 U~ 02 ()
?,\{ yu _})_*/ ot
2ub P,  valuel in@®), wedged

o _
%_J + (@ %E}i 2> (o) Cf% )'f‘l a d‘-)‘;,zL

[ 4z ))[l-—t @2

clu

dz =

I —

Au ra

Scanned with CamScanner

Scanne d with CamScanner



| ..
prd m‘
V.0'b-¢
fL({? AN (|.dLl +C
Fa Hr;-{i:
LO'L']'z x U 4 C -\LOL]? - Xa-ay
F— 1L
" ViHa o
oz = Lo
3?' L]‘t-imicqtj 4 €15 -The re L’LUT(T- C‘”’""‘Ptdr
J_!"f(:l} MHILD

i
SQGW"{L"A —{‘DI'M-B

E quations of {he ~orm P =94.9) v¢ f"?“"’h‘:‘”f
not conlaining 2 ard ~lhe @quc‘ﬂmﬂi COMC{H‘U 'JLOF‘O( L Can be
hgt_(‘(‘_ﬂdt_d 'GTOm 'H‘\DSE Con\oumri} LJ ar\c@\q

WOrRI Rthe A
-h r)ﬂ*r_Cmg{len ?C‘f_tp) (](Lf q) :f‘-sah“'a; _?D(LH?E:T);UJ( AISUme

that each derm of eg-O ic c‘qual—lo an tl“th{mJ constant a*
€y LY = §(Y.g)=a
%Olhiﬂtj ~or pand (? we bave

P F‘I('Lpua) 1.5 = Fa Y (1)
02 %¢ afunchon ©Of iardtj*fh(fﬂ"hf‘ {olal derivative of 2

Az = 9Z A +32 L} _.Pd*qug_—@

DA
Lubstituling %e valuel of p\q i eq ®© e haye

A= - E, C-( ANdAdL -+ Fa (Y, Cl')dlj
T.0'hs 2 _fdz- jF:(l.aﬁdihljgl(ﬂﬂ)dU
r { Fil @)t - [ry.a) djl s —he g

Simsj.
D Solve yp +XGTPq=0
= Given Yyp+~>qAPg=0_

DIU'CUﬂErG) r.u'l‘l'h PCI,. '!:TU ,_{_'}_,H-_.o

T P

e —

Scanned with CamScanner

nnnnnn d with CamScanner

—



=

. LS — —F

Nasurne 1thal cach {ev r) 1< c—‘czual 1o an CUrbi{ay Zonslant

d L s L
 §

= = '__) 5= " _ L . -G - ~ =L
E l = (/ (H?,!'I' \-ol €) —i—, . a =9, Ita
Wb puq valuer in dz - pdx qQdy

C{'Z.: ld‘(—- Y | ¢ YT.0'h
=i NT-0 b
d f‘f@CJ .

dz « 1] | 3
J q 1Ay et {ydy ¢
= 1 ! |
12 ';:_L_CL — 3 I = the r-c<
7) R 2 (14Q)
O SD‘UG r) 1? . 11+LJ1,..

#l GQiven equation Can be oy HieN QY Plf L7 < L_’lhci:@.
Ageume -thal each -lemo 5 cquwl o GU?BHa'ij Concta
. P-1" > 4=9"- a* (Kay) '

1 Plr-_‘i):‘atj_-_ /! ‘jl‘—cl'lf- ar
, P=lrat | =g grg
) Sub thetc Valuey Oz = Pd“("fq@h-j
p| C\ - P, T
| Edz a4y Ao + 'ﬁ-‘f:uig"iaidj ::)-L*O‘J—_’lr
> @ = (@ du + (JjEmay 4 ¢
22 L@5< +4 gnki/a | ’
) Al A Sioh <'Z'{J +‘% JY=at - @ Ccﬁjhﬂ(j)
> 3) Colve VP + Vg =~ . '{j:—
) Given equation can be coiflen At ypra*ng g
p) Solmﬁ‘ e Pq, \y Jﬁ—-_a
D vp =@ 9-= T
n (p = ad oL oL
N P = (at {L)
n Lub, D, 9 valuel 'i"r~-l dz = p(‘l'i { O[d Y
2 > (ae)dx - a*dy
' . "\ -
L fdo ~ [lareYam +a® Jay +¢

Scanned with CamScanner

Scanne d with CamScanner



Sub -he e L-/(R[TUCA L1 (‘l',? - p(-{q -{&OHU
dz - (fa - 2\ - (.W.'h--qﬁdﬂ .

G -0 b C
fdz = (. 1y + (Wia - gy
7 @1’ 4 Jray - Y 4o

o

= dat x ey - (f—*_?&i") ot & peHe
B ~Cs ¢

Slandad formv .

Eq_uaﬁﬁﬂﬁ of lhe 'Ftrm * zs P Czlj +f (P'qf)

This equation i Known a Clairauit equaton

Congiclen 2 = prtgy f (P'CL)_@

A redHOﬂ o) the form z = ax+t bﬂ'{' -P((I,lo‘) )
CUncfcrenﬁaHm_:} ecz-@ paotially LO. "at"f'lﬂ(‘hf

[y
e 2

P-;O'k qf__
C’terﬂhaﬁﬂg c b from %), We (ag{’ Q) ()
L. Z = attbytfl b i the complete goltioNq) eq.@

Sumgs ? 4
S olve z=PLt gy * RiPq
Qe n Z:P’I‘F‘ijFQuﬁ —0®
eq-© 15 of the oo ptgyA (9
The complste qolution of eq-O oblain
9= b
J.z = Qtihye —2.ab

9) Solve  (paq) (2 -P=9Y)=)

(=\ven ge_ll_l.a"‘l"'m,_fﬂ'* e I_l':'HHE"‘v’]'ﬂ!

2 2-p1-9y ¥ ‘ﬁ.q

Ji2
e} btf v iing p-aan

z = pragqy+l @
Piq

Scanned with CamScanner

Scanned with CamScanner



- éCILlO‘“DﬁG) 19 O, IR -(gim -t C{tj‘[f (p,q) =
The cornph‘\r_‘ solution oy eq-® can be oblained by wori :
P: OEHCI - h ,?7 :

:,-z.-:a:“}xj*-

\

| ") olve 0 ki
| L 1) 4 g°( 2 :
oA - ]
) P2 Pl ) A (YY) g v g
t"'j Eiven @O[,L@‘HOﬂ can be {L‘Jri"Hc':".n LA “t? (P q’) |
jj‘wi'ctmq@ O TH PQ, ‘
2= P2t P +qus 9>
o P .
- P'i"i-q(j 4 P?) C'if) 4
i RPN o 4 -
St o .

Cq-@ 18 O.l-' ~ho ~forr - " Pm:! C[H% 'F(Pfq)
Tre complite Qotuhion oF eq -® can be obiained by “;"ﬁ""""‘_‘j’ Q

P?-O omd = b “!
Z=antdby + a2, )3 f
I ¥t .
L[) Solve 7> PI-HZZIJ + jLoc‘]ri. P *ilJLD'clﬂ.CL \.
S0 x $ L 7 f :
—_ @[.v(-;n @qUCLhOﬁ can be LLJHF“(“.'U a) Z-=px% '1"73'1 (,oc]:,( (PX)'FLCQ({?Q{‘
Eq -0 can be reluces o the stardad <forn @ by, —@D ¢
transforrordion ¥ - Loc) o and ) = urﬂj >
x| |
' o - a_? - r—-‘i ‘aﬂ . ;)—:?-‘ " ¢
Wi T [ 5 Tl SRy %) ~
) = TR Notw B 3 I...
PL= = =D __ |
Simnilos |y 9Y = 92
')y T,@\
Gub—thege valuey TNQY . we gek
2=DPTR % Kptryg
Z= PALBRY + pria . D

“Scanned with CamScanner

Scanned with CamScanner



G'q ’@ Ta o_[ "‘L& f-Cz:vm @qdrfﬂt-'(n‘-ﬂnﬁﬂo
“Tho complide golithion of Hhe c?c]-@ s oblotirol by r E/B(cxr:{a:
Prdl, a-h
Zx Qx4 by 2ath
= Qlog bL@t}g -+ a-ih

) Solve AV, 9 - 2

—————

P o
‘EO_E* 6’[1% euohoN Con bﬁ w L Een o (')I#P\ﬂ"\—Cﬂer) = Z _CD
TS Oa of the ffm £ (AMp v, 2) =0 m"d-h = —R e N=-&

=, PU\" X= ™ - ')&‘(‘1) —%2 ond Y = i 33
Now P=4Z = 12 IX — p.ax{ wheve P =4Z =) X P=
“ Trq, = wheve GJ = 3z
i~ Ny 3 6J 3y

Now @ becomet @P M +Ea)T =2

™ @ of the £ L(Z P ) =0 —(3)
leb z = 3(X4ay ) be the zolution of ()
rab U = XEaY then Z = (A

= - adZ
Bt et e

Now (@) becomes @ yt+kck§z,y\ —~
le. "“"‘é_ "\--'L O\Lk — =7

(ov) - dfzg:\»y s 1= %, Sepa¥ating e Neuia s
ZdE = (%Xcluf '.T.n'\—cﬁ‘rc«-)ﬁqf Locse_k—

2z — @Al c
- = zq)u+
=) __7::'.:_; - .—LL()(-"{A\{)*‘C—

BT e e s

e e — —

Scanned ';Mith CamScanner

Scanne d with CamScanner



@ o Solve 2V ey = Ay
— v
So) - Cliven equalion Com be wxithn ol @z\‘{—uw = Y -—C‘i'/z—'}V
Thy Sy o the A L (X P2ZN) =98, 4 zn) with n=|

$7Z _ azdlz =) p:elz_]s Y ) Pz_—_E)_ and JZ — g=Jz

I K a j:{ _U
> & =229 @v) 9z = &

subgtibubing the valua of pzand qz in (O wehes

P “r.__ N = QU

(35 * e S8y ,
e . p’{—-“r’ff‘( ~ W&

whi Un S G e Adbn R (LP) = 42(Y, 60 )
(.c « pﬂf_ Lnf‘f = ‘-ttsﬁ—— oY = ch{\f (Em}

P
B = mrj\# = ) gV . {
@ CA"Z" P&wx-i—&&d = al GV M 4—355‘7;5\'»1&\3

v Qe =S . .
= Aa\)»a? C’l'“_\-a\g‘]tj#adrlj

M G - K‘ﬂ C
s E:}ﬁ \ o Y Slnhﬂ%l:\ :{ e -~ e :]+ |

(v ) 2¥ = AJAw o Smh"(l)‘rt!\] Co — G cqh{:l ) dee

- '10 4‘{}1{""3\1 Y -*C“\r"\‘ [Slv—w\’\_‘(—'ﬂ\ Mk“‘@(q{—‘}—f C.

Scanned with CamScanner

Scanne d with CamScanner



